Lesson EEE: The Dominant Seventh Chord
Introduction:

The dominant seventh (V7) is one of the most distinctive chords in the tonal repertoire.  [Should the following, highlighted text be included?] The following example shows diatonic seventh chords built on each of the seven scale degrees:

Example 1:
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Of the seven diatonic seventh chords, two are MM (built from a major triad with a major seventh, three are mm, one is half-diminished, and one, the V7 chord, is Mm.  The viiø7 and V7 are unique members in this set.  Because of the extreme dissonance and contrapuntal derivation of the viiø7 chord, the V7 chord plays a much more significant role in tonal music.  The V7 chord is the only essential diatonic seventh chord.
Because of its unique construction among diatonic seventh chords, it immediately defines and implies a key.  On top of this, it creates a strong need for resolution to the tonic.  In fact, the relationship between tonic and dominant is so engrained in our ears that composers are able to avoid, delay, and alter the moment of resolution to heighten or soften the level of tension in a piece.

NOTE:  I would not have any of this above material.  There is no need, in my view, to present all seventh chords when all we want to do at this point is introduce and talk about the usage and voice leading of the dominant seventh chord.  I also would not use the terminology “major-minor seventh chord.”  I have always found that expression awkward (major-minor seventh, minor-minor seventh, diminished-diminished seventh, diminished-minor seventh).  Because some students will have used that kind of terminology, it’s fine, to my mind, to include a footnote explaining that what we’re talking about is what they may have called a “major-minor seventh chord” as a way of conveying that the foundation triad is major and the added seventh is minor.  I think the chord should be called, simply, a dominant seventh chord.  It’s a dominant chord with an added seventh:  dominant seventh.
I would start the lesson here:

In this lesson, you will learn about the dominant-seventh chord, its inversions, and how to handle its voice leading.
Construction:

The dominant seventh chord is constructed by adding the chordal seventh (4) to the dominant triad.

NOTE:  Here, show a dom. 7th abstractly, as a stack of thirds build on G, and highlight the construction:  the V chord with a seventh on top.  Then:

The following example shows a dominant seventh chord in C major in an SATB setting:

Example 2:
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The construction of the V7 is the same in minor.  The following example shows a dominant seventh chord in A minor.

NOTE:  Again, show it abstractly first, as a third-stack, then in a four-voice setting.

Remember to raise the leading tone (G to G# in this case) for dominant chords in minor keys:
Example 3:
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[Potential activity:

Have students construct or complete V7 chords in various keys.]
Tendency tones:

In lesson DDD we discussed the nature and function of tendency tones in music.  As you’ll remember, tendency tones are those which require resolution due to their dissonant relation to the tones around them.  There are two tendency tones in the V7 chord: scale degrees 7 and 4.  These two tendency tones form a tritone—a dissonance that must be resolved properly. and with care.  
Example 4:
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[Potential activity:

Give students a series of V7 chords in various keys/positions and have them identify the tendency tones.  They might also be asked to identify the type of tritone formed.]
Scale degree 7, the leading tone, pulls strongly upward toward scale degree 1, which is only a half step away.  Except in one specific situation—discussed below—7 must resolve to 1.  Scale degree four, the other tendency tone, pulls strongly downward to 3, its half-step neighbor.  These dual tendencies create an urgent need for resolution.  The following example demonstrates the proper resolutions of tendency tones 4 and 7 to 3 and 8:
Example 5:
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In this case the augmented fourth formed by 4 and 7 resolves outward to a sixth. (You may wish to refer back to lesson BBB where the tritone interval progressions are explored in greater depth.  This particular example uses the progression from example 4 in lesson BBB.) 
[Potential activity:

Have students resolve the identified tritones from the previous activity.  Using the same examples will hopefully reinforce the continuity of the lesson.]
There remain, however, two other notes in the V7 chord: the root (5) and the fifth (2).  These two voices, forming a fifth in the V7 chord, usually resolve in similar motion to an octave.  The following example shows the basic interval progressions in the upper and lower voice pairs:  [NOTE:  Fix tenor and bass stems in the V7.]
Example 6:
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It is helpful to simplify these patterns by looking at the motion in each voice: in a typical V7 - I progression, 2 resolves stepwise to 1, and 5, when in the bass, leaps downward to 1.  In the example above, you might have noticed that the resolution chord has three roots, a third, and no fifth.  This voicing of the I chord is common at cadences.  This type of voice leading, with both chords in root position, provides a strong sense of repose and, thus, closure.
[Potential activity:

Have students complete the I chord from each of the above exercises.]
Inversions:

The V7 chord often appears in inversion.  While the preferred resolutions of the tendency tones generally remain the same regardless of the position of V7, the resolution of 5 and 2 vary somewhat, depending on context.  Consider the following example, where a dominant seventh chord in first inversion resolves to the tonic triad:
Example 7:

[image: image7.png]



In this example, both tendency tones resolve as expected: 7 to 1 in the bass and 4 to 3 in the soprano.  As in example 6, 2 resolves to 1.  In this case, however, because the root of the V7 chord (5) is not in the bass, we are free to sustain it as a common tone between the V and I chords.  This is the preferred voice-leading because of its smoothness.
The resolution of the dominant seventh in second inversion follows the same voice-leading patterns as example 7: 2 resolves to 1 in the bass, 5 is held in the tenor as a common tone, and the tendency tones resolve normatively in the alto and soprano:
Example 8:
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Example 9 shows the resolution of the remaining position of the dominant seventh chord:
Example 9:
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NOTE:  Say something here about the special aural impact of a 4-2, because the dissonance, the chordal seventh (4) is exposed in the lowest-sounding voice, which makes it very audible and therefore powerful.
In this case, because of tendency of 4 to resolve to 3, the chord of resolution is necessarily in first inversion.  It should be noted that this formation of the V7 to I cadence is the least stable and requires further motion.


[image: image10]
[Potential activity:

In a somewhat lengthier exercise than the above exercises, walk students through the resolution of a V65 chord.  Following this, have students resolve a series of dominant seventh chords in various inversions (including root position) on their own.]
The 7 to 5 exception:

As mentioned above, there is one particular case where the voice with 7 need not move to 1.  Consider the following resolution of V7 to I:

Example 10:
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In this case, the alto has 7 in the V7 chord.  Instead of moving as expected to 1, the alto skips down to 5.  This is permissible for two reasons.  Most importantly, the soprano begins on 2, just above the leading tone in the alto.  When the soprano resolves downwards from 2 to 1, we hear the alto’s leading tone as if resolving to the same 1.  With the soprano acting as a surrogate resolution for the leading tone, the alto is free to move to 5, thereby filling out a complete triad at the resolution.  By this rule, the following example would not be permitted:
Example 11:
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In the above example, the soprano has the leading tone in the V7 chord.  That leading tone must resolve upward because there is no surrogate resolution in that register, as there was in the lower register in Example 10.  In Example 11, the leading tone goes unresolved.  The second reason for the permissibility of example 10 now becomes clear: 7 may skip to 5 only when it occurs in an inner voice.

The result of this 7 to 5 motion is a complete triad in the resolution.  Whereas in example 6, the dominant seventh resolved to a I with three roots, a third, and no fifth, example 11 resolves a fuller sonority.

Popup Box: Typically, the tendency tone 7 is required to resolve to 1 in a V7 chord.  The voice singing 7 may leap to 5, however, if two conditions are met.  7 must be in an inner voice and the immediately higher voice must resolve to the expected 1.

[Potential activity:

· Have students decide whether various examples of the 7 to 5 motion are permissible or not.  Have them explain why or why not.
· Give them a root position dominant seventh chord and ask them to resolve it using 7 to 5 in one of the voices.]
Conclusion:

In this lesson we have discussed the various formations of one of the most important harmonic progressions and cadential idioms in tonal music: V7 to I.  The voice leading of these various configurations is determined primarily by the presence of tendency tones 7 and 4, as well as a preference for smoothness in voice leading to the resolution.  The dominant seventh chord may appear in any of its four positions, each of which lead to certain idiosyncrasies in their resolutions.  While the conventions for resolution have been given here as simplified rules, it is important to remember that basic interval progressions and dissonance treatments are still the underlying forces.

[Potential activities:

Skydiving.

Whitewater rafting.

Spelunking.]
Popup Box: Rules for resolving V7:


The tendency tones must be resolved properly: 7 resolves to 1 and 4 resolves to 3.


2 resolves to 1.


5 should be held to promote smooth voice-leading.  This is possible in every inversion of the dominant seventh, but not in root position where the bass must leap down from 5 to 1.








